Algebra I Test Review Sheet Name
Systems of Linear and Nonlinear Equations and Inequalities

|. There are three possible types of solutions for a system of two equations:
A.) One solution

B.) No solution: when does this occur? Paraliel Lines
C.) Infinitely many: when does this occur? Same kine (one equhon isa muldiph of
A e other) ]

2. Solve each system by substitution:

4x+7y=_] 8,\:—3.“:_10
@ (2x+r=7 — y = - 2247 o 5-y=4r — —y=4x—5
g': -4y + 5
4y T(~2x+7) = —|
Hy — 14y +49 =1 8x-—3(-4x+5)= o
R, §x + 12x —15 =10
S et 20x — 186 = —10
=5 i |
‘ (5,-3) 20 y5 (b, )
y= _2(5)4—'7="3 X = ot
Y= —gq()+5 =~1+35=H

3. Solve each system by elimination:

x % -
8x -3y=-10 4x +2y=8 —> | 2x + 075 24
(a) 4x+y=5 XB (b) 6.x—3_V=0 Lﬁ 12”( - 6"} = 0
%X—B(j:-—w 24 x = 24
12X +34 =15 X=
20 % = 5 L+><+29=8 ;
= G4li)+2y= | 2
B (Vy, =) ) 2”:9 (1,2)
(%) +y=5 ) 442y
l+g=5 23=4
9:4 g:?—

4. Solve each system by graphing. Express answers appropriately.

3y=2x+15 cZ y + 5 _3 araJ/U/l Lines
173 y=g! PNoSv“"Mn {.v=—2x+5 Dypandlind”
(¢}

@ VT3 (by (4y=3x+8 4x+2y=10 = 2y = "Hx+10
(-— 5)3) = 2 '

R Y= 4 x+2 same kine = T2x+s
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5. Solve the system by any method. 1o

/
22 LIPS E
2x+3y=7 (——'n 3 v=2x+5 y—2x+2
() x3 (b (©) 3
4x-y=-9 —~ x+2y=15 1 4 s
~ — —Xx+—y=1 —
2x+3y=1 X+ 2(2x+5)=15 (,3
J‘l)(n%ﬂ:‘l'l X+4x+!0‘-‘l5 3x+49.‘: q
=15
4x = =20 Sx+10= | 2y =
WS 5= 9N
14 7 x =1 X= 2y~
4(R) -y = "2 y=20)+5=7 s(2y-4) +Hy =
-4 gy oz —Lb2 &’5‘]24‘”% = 9
Sy = -23 YIE ) Yy
Y = 7 X=2{T;) h s 103
X= 2-! —'-39“9\ = _%.L
6. Solve each system of inequalities by graphing. Shade your answer section cl'=r early. 3 1o
x<4 —y>=2x+3
{ { ’ N Yy < 2x—3
(a) _\’>"2 (b) 2__\’+):_<.4
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7. Solve each Linear-Quadratic or Quadratic-Quadratic system by graphing on the calculator.
=x +5x=2 = +2x-8 2x—y=-10 x=2y=-5
@ ” ® © . @ 1
y=x-2 4x—y=5 y=x-2x-2 y+2=x ~2x-2
-y _ 2
(——Lf _(D) (d-qx = H - 2x+}0 L—P(j:?('zx—"}
?
— -1 -9) -2y = —5-x
(0, —2) Cn =, 4 (2, 0) 4y 9
(3/ 7) y= = + 2/
(¢)22)
- ~].5b
(chomge s wioded - x= 7150
) > 1108
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8. Solve each non-linear inequality by graphing. Shade your answer section clearly.

(a) y=2-=2(x=1)°+8 (b) ys-‘;‘-|x+2|-5
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9. Solve each system of inequalities by graphing. Shade your answer section clearly.
_vS—3|x|+7
(b) )
_v>-lx‘—7
2
<« 1>
x
" -
10. Which of the following systems is {0,0) a solution to?
—y>=-2x+
o {x<42 yS—3|x|+7 { y=> ix 3 o x
@{ S—x*+5 - @ Le 7 @ (2rresd (e){ x> +5
y=a—x sO< o -"*'2"‘_ ?( 0> 0343 yo =t
g>-3 v Vo s v X 0>0
- z 0= -3(0) +9
gs o+5V

Vo> %) -5






